Centroid and Center of Gravity
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200 mm

v

A

;,.ri
30 mm
=
Neutral Axis (N.A)
230 mm
Y=116.315 mm
Reference Line =
T
40 mm
Area No. Area value (mm?) Distance from the A *y (mm?)

center of area to the
reference line (mm) y

Rectangle Al 6000 245 1,470,000
Rectangle A2 9200 115 1,058,000
Y A=15,200 yAy=2,528,000
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Neutral Axis [N.A)

y Reference Line

Area No. Area value (in?) Distance from the A *y(in?)
center of area to the
reference line (in) y
Al
Al= yl= Ayl=
A2
AZ2= y2= Ay2=
A3
. A3= y3= Ay3=
Y A= 2Ay=

AR




3in

7 in

12in

\

Y

Area No. Area value (in?) Distance from the A *y (in3)
center of area to the
reference line (in) y
Al
Al= yl= Ayl=
A2
A2= y2= Ay2=
A3
‘ A3= y3= Ay3=
S A= 2AY=

Yy

Neutral Axis (N.A)

v Reference Line




Area No. Area value (in?) Distance from the A *y (in3)
center of area to the
reference line (in) y
Al
Al1=37.5 y1=10 Ay1=375
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A2=105 y2=7.5 Ay2=787.5
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‘ A3=-28.27 y3=12 Ay3=-339.24
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